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(i) | "eT afEd ¥

(i) UsT HEIE 6 A 23 % N anaii® few A ™ ¥

(i) 97 w9 18 5 q% 32 aRghres wed ¥ | wedd aeghTe e 1 3fd W ¥ [32x1=32]
999 BUE 6 A 15 0% TAF UST UT 2 ok amafed &1 Gld WIT BT IUL AT

(1v)
30 g ¥ fefaa)

(V) usT HHE 16 § 19 TF QS 957 W 3 % A&l €1 e WeT & I FIHT
75 gt} A fafaa|

(vi) W7 FHIEG 20 & 23 TH Y4H T W 4 oiF Ardfed ¥ 1 q@E WA H1 I
120 oreEt # faf@w

(vii) FTESIHATTAT T3 TWI AR

Instructions :
All guestions are compulsory.

(i) pulsory.

(11) Internal options are given In question numbers 6 to 23.

(i) - Question numbers 1 to § are 32 objective types questions. Fach objective question
carries 1 mark. [32x1=32]

l ' o 18 each carries L

(iv) Queshon numbers 61 carries 2 marks. Answer these questions
approximately I 30 words each.

(v) Question numbers 16 to 19 cach carries 3 marks. Answer these questions
approximalely in 78 words cach. ‘

(Vi) Question numbers 20 10 23, t..aCh carries 4 marks. Answer these yuestions
approximately in 120 words each, ons

(vii) Draw neat and labelled diagrams wherever nec essary.
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1w e gt fafan -
(i) HgEY @rE § 1x7=7
(3) = & T gwEal B odEn

@ " RN W EN B ow
() amﬁ&uf&mma;?rrm

(R T |/ B &
(i) M-+t ToEm &
() s .
@ P a o .
(i) »E@ & fagia &1 d@@g ¥ -
(o7) wwraget =i (@) w=a
- (@) s i @ =™ EN
(iv) THT @ & weurn (orE) ¥ -
(3F) -P,/P, @ PP,
(®) -P,/P, @ P

/P
) WA § s W o A Peifw e E
(@) Pod ¥ oife 3feg) @ Ra #=mg

(@) afra d=eg (@) Ny smam
(vi) ¥ @ §rg g T8 B wedr ¥ 7
(¥) dHia A () ufadade @,
@ Rax @ ra @) orEET WPE
(vii) =aft oo defia & -
(7)) =afEma a=nel @ (@) wmfes =N |
@) umfes =Es W @ T ¥ B A

Select and write the correct alternative :
(i) Opportunity cost is -
(a) Numbers of units sacrificed
(b) Numbers of units gained
(¢) Cost of next best alternative
(d) None of these
(ii) Non-tax revenue is -

(a) Income tax (¢) Dividend

(b) Corporate tax (d) Debt (borrowings)
(iii) Keynes theory is associated with -

(a) liffective demand (¢) Propensity to saving

(b) Propensity to cunsume (d) All the above
(iv) The slope of the budget line is -
(a) -P,/P, (¢) *'1”’2
(b) -P,/P, (d) PP,
v) Which of the followings agency is res o 1 ;
(v) Which of the ( gs agency is response for using Rs. | currency
(a) Reserve Bank of India (c) Ministry of Fj
o N inanc
(b) Ministry of Commerce (d) Niti Ayog ce

l“‘—_‘-.—"
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(vi) Which cost cannot be zero ?
(a) Marginal cost (¢) Variable cost
(b) Fixed cost (d) + Opportunity cost
(vii) Micro economics is related to -
‘(a) Individual quantities (c) Aggregate debts
(b) Aggregate quantities (d) None of these
2 fwa wA & g SR 1x6=6
(i) GST @ 9% &L g
(i) IARA & FTEA B E
(i) gob wierafrer & ferben FQl a9 T
(iv) #ra SearEdA e wiedr ¥
(v) THW @ @ TR &R B
(vi) M, 3R M, TET FHEAr
Fill in the blanks :
(i) Standard rates of GST are

(ii) The are _ factors of production.
(iii) In perfect competition, producers should sell product in

the market.
(iv) price is a fluctuating phenomenon.

(v) National income is computed
(vi) M, and M, are known as money.

3 g§d/|a fafeg |x7=7

(i) fag @ 9t o0 = F el ¥

(ii) Rl fafmrg @@ & wre o o wEd ¥
(iii) ﬁ]ﬁﬁa@aﬁm%ﬁqﬁrmﬁwmmp
(iv) ﬁmmaﬁwaﬂmﬁ‘rmmh

(v) uﬁaéﬂaﬂﬂmﬂasws’umﬁh

(vi) @mﬁa@mﬁm-ﬁmaﬁt;
(vii) qof erm @1 e EREI LIS
Write True or False : -

(i) Investment is defined as addition lu‘thc stock of physical capital,
(ii) Foriegn Exchange Rate also called Forex Rate.

(i) Law of demand is also applicable on Giffen's goods.

(iv) Fixed cost is also known as supplementry cost.

(v) Variable cost can be zero. .
' ition consists ol a large e
(vi) The perfect competiio? ge number of buyers and sellers.

(vii) Full employment never means zero unemployment.

2]/ Us09 D H3 3 N0 O

https://www.mpboardonline.com



! Hﬁ?ﬁé’twﬁ

. ‘3 g Ixpsg
(l) aqTE (a) ﬂ{“nquﬁ
(i)~ MPS (b) W s
::1'; RSEEIE S (¢) Wmia ST whs
&% (d) 1 - APC
(V) s @ ggum (¢) fafsa aam
(vi) APC (h =ty
1y C/Y
Match the columns ®
) .Al OB.
(1)~ Flow (a) Negative
(!!? MPS‘ (b) Coarse cereals
(111) Inferior goods (¢) Marginal Propencity to Consume
(1v) Stock (d 1 - APC
(V) The slop of budget line (e) Point of time
(vi) APC (f) Period of time
() CY
5 Uus 9= ¥ s

1 x6=6
() Ff ot ww A 353-6'1 ¥7

(i) —gAoq @ndT g fees gro Fruifa fear wmar &0
(iii) ga1 wWhfy fpe @eq ¥7?

(iv) g s o & fiftat F am fafed

(v) €Hid Suer ygia fFa @ed ¥°

(vi) waafdrg FRw e @ed 87

Answer in one sentence :

(i) What is errors and omissions ?

(iil) Who determine the Minimum Support Price ?
(iii) What is inflation ? https://www.mpboardonline.com
(iv) Write the name of method of National Income.
(v) What is marginal propensity to consume ?

(vi) What is exe-ante investment ?

6 Toaaw Puffa dma f&a s ¥? )

What is ceiling price ?

sEyq wa’ fed HEA ¥7
\?’Eat is 'Invisible Hand'?
7 WS EHgEA ara fFa wea 7

What is the market cquilibruim price 2

dwar /| OR

Wy [ OR
a5 H dmrg GWTd S 6 wwy ¥ o

What is marginal revenue product of labour ?

"‘_—'ﬂ - -
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g wwim wgd e FEd &7 2

- - - l)
What is consumption goods '

s /| OR
gofra aegd e wEd ¥ 7
What is capital goods?
9 s amm AR FEd ¥7 2
What is personal income ?
v /| OR

Praw e Sa fRd BEd 7

What is Net National Product?

10 SLR f&d #ed €7 2
What is SLR?
yan /| OR
e sifeenel qE R/ ¥ 7
What is High Powered Money ?

11 39w e fed @ed €7 | 2
What is consumption function ?
s [ OR
gy O o o ues fefawl

Write two components of aggregate demand ?

12 =7 am & 2 o fafaa) 2
Write two reasons of deficient demand ?
Fyar /| OR

st w o @ etvuma ¥ 7

Write the meaning of excess demand.

13 ywraget @t w1 ¥ 7 )
What is effective demand ?
sqyan /| OR

g nfea @ awaa HE wed 7

What is the assumption of ceteris paribus ?
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14 o sdemawn Be wed 7
What is the Market Economy ?
- @ | OR
THTE ofdE fasdrwwr RAd @ed €7

What is positive economics analysis

2
15 wmw e w5 T7
What is profit ?
aar | OR
olad ware Ry wed ¥7
What is average product ?
3

16 @ﬁ@ﬁrﬁmﬁmﬁmﬁmﬁﬁmﬁSWE{_%ﬁaﬂl
Write three relationship between total utility and m
" sw | OR .
e i o e AR wW @ wdw F q

Explain in briefly - the perfectly elastic demand and perfectly inclastic demand.

arginal utility.

17 ﬁﬁaﬁﬁlﬁﬁm,iﬂﬂiﬁﬁmﬁﬁﬁmaﬁﬂﬁquﬁﬁﬂ? 3
ﬁﬁqnmﬁﬁmﬁw%lﬁaﬁ%l -
¥ H A= T AW AATa I Aa ww |
0
T
y)
3
4
5 L
6

Compute the total revenue, marginal revenue and average revenue sehedules
in the following table. Market price of each unit of the good is Rs. 10

Quantity Sold TR MR AR
0
|
2
3
3
5
6
sgw /| OR

A e @ a d fafaa

Write three conditions of profit maximisation.
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18 mﬁﬁﬁﬁaﬁﬁm{ﬁmaﬁ‘mm’wmt?
What role of RBI is known as ‘lender of last resort'?
syar / OR
gt & Priwwr & & Rfem I fafeg

Write three policy tools to control money supply.

19 Wa@‘mﬂwa@ﬁﬁ’mﬁf@m

Write distinguish between substitutes goods and complem
sgn /| OR

w3 a w3 W ffee
g of a commodity of demand.
Prefufiaa aifesr & fear T
Fw qfadl @, 39 AT

entary goods.

ﬁsﬁazgaﬁqhm’rwﬁa

Write any three factors affectin
20 w#mm'mmaﬁﬁ
tiwﬁﬁgmﬁuramﬁlooﬁﬁtlwfai
wmﬁhﬂaﬂaﬂmaﬁﬁﬁmﬁm

0 | -
l 1] 500 |
2 | 300 l
& 3| 200
4 | 300
5 | 500 |
6 | 800 | o
A firm's SMC schedule is shown in the following table. The total ‘tlxed -wat
of the firm is Rs. 100. Find the ”_FVC, TC and SAC schedules of the firm.
[o | Mc
[0 -]
[T ]
r 2 .
[ 3
[ 4
E
[ 6
sya / OR

amd 9 4 st fafaa
total variable cost and total fixed cost.

7 T LT
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Write four distinguish between
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23
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TTE =9 Td (o =g § W7 i

Distinguish between revenue expenditure and capital expenditure.
Juw /| OR

U % g q RN A ¥ P Tad yan) & dfra aren anagl

What is the meaning of deficit budget ? Explain its types briefly.

AN ¥gAT T YaW dgaT ® 4 siqe fafam)

Write 4 distinguish between balance of trade and balance of payment.
vy /| OR

et fafma =T & < 1w @ A W ¥ g

Write in brief two merits and two demerits of Fixed Exchange Rate.

TE g% @ " 9 REn 5 'Y @ dva W3 a9 @l
15 Taedl @ WA ¥ A AT 9% ) HINd geRT 7. W9 B 9l )
Haa @g B T Hid '

Consider the demand for a goods. At price 3, the demand for the goods
is 15 units. Suppose price of the goods increase to Rs. 7 and as a result,
the demand for the goods falls 12 units. Calculate the price elasticity.

syar /| OR
i ¥ fram & gfas @ren @ A7 Hifig)

Explain with diagram of the law of demand, In brief.
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